GEERBER

BE_ZTRET_A=+—HLFE

RATRERE AEGED
LERE

i BA  HitngtdgE REEFA R #at

FET FHET FHET FET FHET

R-ZERF— A —B&H 20,028 41,752 110,132 6,848 178,760
BBITEMERE 2 BFEE 15 = (63) 63 - -
B 15 = (139) = = (139)
BRgEFcEHEK 15 = 6,130 = = 6,130
BN ERER SN = 5,928 63 = 5,991
AN | = = 51,118 1,259 52,377
R-ZEThFERW BT = 5,928 51,181 1,259 58,368
BITRD 14 360 2,769 = = 3,129
EH_ZTNFZEMERE 28 = = (14,020) (600)  (14,620)
BR_EERFZ2OMKRE 28 = = (14,488) = (14,488)
R-ZEZTRhFE+_-_A=1+—HBH#&H 20,388 50,449 132,805 7,507 211,149
RZZEEF—F—R&E#H 20,388 50,449 132,805 7,507 211,149
FRMEMEN 2 EFEE 15 = (1,072) 1,072 - -
T 15 = 2,033 — - 2,033
RigEFcEHEKG 15 - 5,850 — — 5,850
BN ERER SN = 6,811 1,072 = 7,883
NEE A = = 30,858 381 31,239
RZET R EFER =BG = 6,811 31,930 381 39,122
BT 14 604 9,793 = = 10,397
EH_ZTRFZ2EMKE 28 — - (18,349) — (18,349)
BHE_ZERNFZEMNRE 28 = = (15,291) = (15,291)
RIBEERF+_A=1+— 20,992 67,053 131,095 7,888 227,028
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